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QID : 1 - In the following question, select the related word from the given alternatives.
Mass : Kilogram : : Volume : ?

Frfafea uer 7 Ry Q fenedt # @ Tefda e @t gl
ZegH : fohetur ;AT ?

Options:

1) Joule

S

2) Litre

e

3) Degree

feft

4) Volt

die

Correct Answer: Litre

Candidate Answer: Litre
i

QID : 2 - In the following question, select the related word from the given alternatives.

Frfafea uer 7 Ry Q fenedt # @ Tefda e @l gl

RS A aEndi?:?

Options:
1) Butterfly : Caterpillar
faeeht : goeft

2) Stag : Doe
favor : foroft

3) Colt : Horse
EESRR:I]

4) Bee : Drone

AT AR : TR AYAGRET
Correct Answer: Stag : Doe
o0l : fg=o

Candidate Answer: Stag : Doe

QID : 3 - In the following question, select the related letters from the given alternatives.
PQRS : 00QQ : : DEFG:?

ffefea e 7 R 7Q feredt # @ Hefda s1ert & gl

PQRS : 00QQ:: DEFG: ?

Options:

1) CCDD

2) CCFF

3) BBDD

4) CCEE
Correct Answer: CCEE
Candidate Answer: CCEE

QID : 4 - In the following question, select the related letters from the given alternatives.
PQR:MNO::DEF:?
ffafEa uer A Ry o Rereat & @ Tefda sreri &t gfg)

PQR: MNO ::DEF:?


http://thepracticetest.in/cs_sipco_17/logout.php?appid=1368062d74107fc05177712c90c3885c
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Options:
1) ACC

2) ACB
3) ABC

4) BCA
Correct Answer: ABC
Candidate Answer: ABC

QID : 5 - In the following question, select the related number from the given alternatives.
7:343::9:?

fafafEa us & Ry g et & @ Tefda T ot ghgl

7:343::9:?

Options:
1) 529

2) 629
3)729

4) 1008
Correct Answer: 729
Candidate Answer: 729

QID : 6 - In the following question, select the related number from the given alternatives.
13:167::15:?

At wer 7 Ry Qg feredt # & Hefda Jw@n &t gihgl

13:167::15:?

Options:

1) 223

2) 224

3) 225

4) 227
Correct Answer: 223
Candidate Answer: 223

QID : 7 - In the following question, select the odd word from the given alternatives.

frfefad usr 7 g 7y Reredt # § fwm 2reg & gfw)

Options:

1) Mobile phone
ol GUTY T
2) Laptop
wgerg

3) Television

4) Cathode Rays

ets fanvot

Correct Answer: Cathode Rays

Fts foeot

Candidate Answer: Cathode Rays
Fets fonvot

QID : 8 - In the following question, select the odd word pair from the given alternatives.

frfofea uer 7 Ry 7Q fenedt # @ fowm <1z gt &t gig)
Options:

1) Gloves : Hand

M : g1

2) Tie : Neck

ERRICT

3) Hanky : Hand
FHICA : gTU

4) Socks : Feet
ot R

Correct Answer: Hanky : Hand
&HICT | BT

Candidate Answer: Hanky : Hand
&HIT - gTd

QID : 9 - In the following question, select the odd letters from the given alternatives.

frafafeEa v & Ry e Reredt & @ fwm sieri a0t gfwl
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Options:
1) AG

2) RX
3) EK
a4 MT

Correct Answer: MT
Candidate Answer: MT

QID : 10 - In the following question, select the odd letters from the given alternatives.

frfafea w7 Ry 7Q fenedt & @ ww sreri &t gfAml
Options:

1) GDA

2) IFC

3) YT

4) PMJ
Correct Answer: YVT
Candidate Answer: YVT

QID : 11 - In the following question, select the odd number pair from the given alternatives.
frafafEa usr & Ry e Rrereat & @ fawm g gm @t gl

Options:

1)52-164

2) 60 - 162

3) 44 - 146

4)112- 214
Correct Answer: 52 — 164
Candidate Answer: 52 - 164

QID : 12 - In the following question, select the odd number pair from the given alternatives.

frafafaa usr & g g et & & v g gm & gfg)
Options:
1)27-118

2)33-132
3)41-164

4)73 - 292
Correct Answer: 27 - 118
Candidate Answer: 27 - 118

QID : 13 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Bright
2. Bingo
3. Better
4. Bleak
5. Beak

ffafEa vl @l reaaier § S aret s & orar ford |

1. Bright
2. Bingo
3. Better
4. Bleak
5. Beak

Options:
1) 52341
2) 53241
3) 34251

4) 32514
Correct Answer: 53241
Candidate Answer: 53241
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QID : 14 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Nailed

2. Nailgn

3. Magazine

4. Monkey

5. Mend

Al 2real ot AregahieT A 71 aTet 37 & STgER ford|

1. Nailed

2. Nailgn

3. Magazine

4. Monkey
5. Mend

Options:
1) 35412

2) 34521
3) 34512

4) 35142
Correct Answer: 35412
Candidate Answer: 35412

QID : 15 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
T,R,O,M,J H,?

Qe 31shd foam man &, e @ gk ug o &1 Ry 7 faehedt 7 @ ag 9t Rievew 9T, St sigerd il g |

TR,O,MJ,H,?

Options:

1)F

2)G

3)D

4)E

Correct Answer: E

Candidate Answer: E

QID : 16 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ABC, BDF, CFI, ?

Ten 1geRd fear T g, e @ Uk ue g &1 iy 1Y fahedt A © 98 wel fdened g, St SrgehA &l gy el

ABC, BDF, CFI, ?

Options:
1) DLH

2) LDH

3)DIL

4) DHL

Correct Answer: DHL

Candidate Answer: DHL

QID : 17 - In the following question, select the missing number from the given series.
283,94,31,10,?

frafafea us F Ry e fenedt & @ g ofcs 31 AifSQ)

283,94, 31,10,?
Options:

1)3

2)4

3)5

47
Correct Answer: 3
Candidate Answer: 3

QID : 18 - In the following question, select the missing number from the given series.
2,3,7,22,155,?
fafafEa v F Ry e Reedt 3 @ g si 3 Sl

2,3,7,22,155,?
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Options:
1) 1701

2) 1711
3)3410

4) 3411
Correct Answer: 3411
Candidate Answer: 3411

QID : 19 - Six persons A, B, C, D, E and F are standing in a circle. B is between F and C. A is between E and D. F is to the left of D. Who is between B and D?

BENTA,B,C,D,ETNF UG MAR A WS &1 B, FAAMCH Aem g1 A, ETA D F A &I F, D & 913 &1 B IUT D & Heg bt 82
Options:

Correct Answer: F
Candidate Answer: F

QID : 20 - From a point D Sarita walked 50 metres to the north, then after turning to right walked 50 metres. She again turned right and walked another 70 metres and
finally turned to right and walked 50 metres. In which direction and at what distance is she from the starting point D?

T Gak fomg D & ITR i 1R 50 Hiex Teit fthe &l g+ & a1g 50 #iex Icit | a8 G: 1 3R T a7 70 Hiex 3R Tt a7 sidd: 3 74t 87k 50 Hiex =eit| 98 fomg D & forg feam &
ot @ W &2

Options:

1) 20 metres to the North

20 R I A

2) 40 metres to the South
40 ez afgor &
3) 20 metres to the South
20 ez afgror &
4) 30 metres to the South
30 ez afaor

Correct Answer: 20 metres to the South

20 ez afgor &

Candidate Answer: 20 metres to the South

20 Hez Efeyor &

QID : 21 - Among four friends, Govind is twice the age of Krishan. Nandu is half of the age of Krishan. Gwala is 6 years elder to Krishan, but 6 years younger to Govind.
Who is the youngest?

IR A5 & Hew, M, o0 T 3G A1 ST §1 775, FooT Y ST AT STTET | TaTedT, 0T & 6 Y 19T § UM< § 6 a BheT &1 g & Ta9 & & 82
Options:

1) Govind

e

2) Krishan

Ead)
3) Nandu

T
4) Cannot be determined
1 a1 AT S Hepa

Correct Answer: Nandu
RS

Candidate Answer: Nandu

T2

QID : 22 - In the following question, select the word which cannot be formed using the letters of the given word.
Gregarious

frfafea faewedt & & ag e g St iy 17 2163 & S18RY T TR Shech Te] ST ST HehaT |

Gregarious

Options:

1) Vigour

2) Aries

3) Raser

4) Sugar
Correct Answer: Vigour
Candidate Answer: Vigour

QID : 23 - In the following question, select the word which cannot be formed using the letters of the given word.
Literature

ffafEa e & & gg e gfw St g 7y 21eg & s1eRl a1 TR shedh el ST S Geha |

Literature
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Options:
1) Literate

2) Real
3) Tile

4) React
Correct Answer: React
Candidate Answer: React

QID : 24 - In a certain code language, "go there" is written as "na pa", "we and they" is written as "sa ha ta" and "go and come" is written as "pa ha la". How is "there"
written in that code language?

Yo fafre s T , "go there" @i "na pa" foraT SITaT &, "we and they" @i "sa ha ta" foraT SITaT €, "go and come” @i "pa ha la" foraT ST &1 39 i A7oT & "there” Y fFg TR
forar srgm?

Options:

1) pa

2) ha

3) na

4)la
Correct Answer: na
Candidate Answer: na

QID : 25 - In a certain code language, "RESIST" is written as "OANPOE" and "DIGENE" is written as "CEZAJA". How is "GINGER" written in that code language?

e fAfe s T §, "RESIST" i "OANPOE" forar SiTdT § 927 "DIGENE" &t "CEZAJA" foraT SiraT &1 39 i 9ot & "GINGER" ohf fhg UehR forar sirgem?

Options:
1) NACJEC

2) KHFOBD
3) MHFQDF

4) JECNAC
Correct Answer: JECNAC
Candidate Answer: [ NOT ANSWERED ]

QID : 26 - In the following question, by using which mathematical operators will the expression become correct?
32727871474
frafafad ua §, Ry e Rereal & @ fopm wftrdtar dfehanait @ st e @ R mar gefienzor g @) smemm?

32727871474

Options:
1) x,+ =and +

X, +, =ddT +

2) +,+,=and x

+ +, = JATX

3)x, -, =and x

X, =, = ddT X

4) +,x, =and x

+, X, = dATX

Correct Answer: x, —, = and x

X, =, =ddT X

Candidate Answer: [ NOT ANSWERED |

QID : 27 - In the following question, correct the equation by interchanging two signs.
7x6+5-12+3=41
PrfoifRe war 3, Rt @t v wifthano Y s # aaerer R g e At agd )

7x6+5-12+3=41
Options:

1) +and +

+qUT+

2) x and +

X qqT +

3)+and -

+3Ur -

4) x and -

x dg1 =

Correct Answer: + and —
+qUT —
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Candidate Answer: + and -
+dd1 —

QID: 28 - If 15 (196) 29 and 16 (100) 6, then what is the value of ‘A"in 31 (A) 48?

af% 15 (196) 29 T 16 (100) 6 &Y, ¥ 31 (A) 48 &, ‘A’ T 7 T G2

Options:
1) 361
2) 256
3) 324
4) 289

Correct Answer: 289
Candidate Answer: [ NOT ANSWERED ]

QID:29-1f72A7B9=16and 52A5B7 =12,then92A3B8="?

g 72A7B9=16au152A5B7 =128, @192A3B8="7

Options:

117

2) 92

3) 86

4) 35

Correct Answer: 35
Candidate Answer: 35

QID:30-

In the following guestion, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Taffta vy # By or et & ® uy RBeg
(?) & FUE W A Tl FEAT B AT

3 4 2
1 6 5
4 2 3
20 14 ?
Options:
1)11
2)12
3)14
416

Correct Answer: 16
Candidate Answer: 14

QID:31-
In the following question, select the number which

can be placed at the sign of question mark (?) from
the given alternatives.

freafafea wy # fw o Rwedt & @ ww Rew
(?) & TUE T H arel FEAT F AT

3 11 5 45
4 <4
3 7 8 7

R
[e}]
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Options:
1)72

2)76

3) 80

4) 84

Correct Answer: 80

Candidate Answer: [ NOT ANSWERED |
QiD:32-

How many triangles are there in the given figure?

& a1g agla # feraer feg= €

Options:
1)16

2)18
3)20

4)22
Correct Answer: 18
Candidate Answer: 18

QID:33-

How many guadrilaterals are there in the given
figure?

& 72 gy # frad e €2

Options:
15

2)6
3)8

4)10
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]
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QID : 34 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to
to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

m

Statements:
I. All men are scholars.
IIl. Some scholars are advocate.

Conclusions:

I. All scholars are men.

Il. Some men are advocate.
Ill. No men are advocate.

12 g 17 udes st # 3 U SR 3 916 37 RYHl IR SR $© ey &g 11g &, gTerifcs 399 Ty F1a aeat O far gt aehdt 81 et freend ug ofk fiRr faiRa o s feg
MY s @ s, g T et & smaR o gRedd €1

hY-:
. &+ft gz fagm &1
Il. 3o fagm adhra &1

e

. g+t g w81

Il. T G2V T &1

111, Y G2 aehieT el &

Options:

1) Only conclusion (1) follows
(=g

2) Only conclusion (Il) follows

hae sy (1) wet &

3) Only conclusion (lll) follows

hae et (Ill) @8t 8

4) No conclusion follows

Correct Answer: No conclusion follows

IS oft forsemf @igh gt &

Candidate Answer: No conclusion follows

18 off frrsed wet 78 &

QID : 35 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem
to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. Some men are hardworking.
Il. No blue is a advocate.

Ill. Some blue are men.

Conclusions:

I. Some blue are hardworking.

Il. Some men are advocate.

Ill. Some blue are not hardworking.
IV. Some men are not advocate.

2 g T Udies U # 5 due SR I I16 39 RYHl IR SR $© Feent &g 71 §, gTeriich 399 A= F1d a2l 9 f3rar gt gkt g1 It freend ug ofk fiRr faiRa & s feg
Mg i @ fserd, g T et & SR wR gRedd g1

hY:

|. $© o9 AT &1

I1. ¥E Fe ahier 7 &1
. F A gew &1

fAreen:

|. ® et Aget &1

1. T 3N Jehiet &1

1. & it AgAdt T8l 81

IV. T& GV JehieT 181 gl

Options:

1) Only conclusion (1V) follows

Fad ey (V) 98t

2) Only conclusion (I1) and (IV) follow
haet sy (11) o fsey (IV) T8 €

3) Only conclusion (1), (I1) and (IV) follow
Shaet fsend (1), (I1) @ fsawe (1V) 98 €
4) Only conclusion (lll) follows

et Frea (11l) Tg &

Correct Answer: Only conclusion (IV) follows

Fad ey (IV) 98t g

Candidate Answer: Only conclusion (IV) follows

haet sy (IV) T &
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QID:36-

From the given options, which answer figure can be
formed by folding the figure given in the question?

Tl feedt & @ wla @ 393 3mefa oy
# & mE A B Az TAE 7 TES W2

Options:
1)

Correct Answer:

1

4

a/'

2

Candidate Answer: [ NOT ANSWERED ]
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QID:37-

From the given options, which answer figure can be
formed by folding the figure given in question?

Rraffee Reed # @ o @ 97 3R oy
# & 7 el F AzeT @S ST e B

Options:
1)
)
®
e
2)
" A
3)
|
7
4)
" A
Correct Answer:
o (N
o
Candidate Answer:
o (N
o
QID:38-
" A
Options:
1)f
2)g
3)e
4)b

Correct Answer: g
Candidate Answer: g

QID:39-
.

Options:
1)4

2)3
3)2

4)5
Correct Answer: 3
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Candidate Answer: 3

QID: 40 -

In the given figure, what is the total of strong blades
and sharp steel?

&1 g gl A, Ay e Owr g sEug

T T frae €2
Blade/ Steel/
ﬁ%‘l’x‘:ﬂ ] 72 ! .——\\\‘/ m'k—_r
/e (13 %2
(\ 61 ,"' ‘1/6/ Sharp/
\_\f,/ 68 GIE
Strong/AALA
Options:
1)24
2)16
3)29
4) 69

Correct Answer: 24
Candidate Answer: 24

QID: 41 -

Which answer figure will complete the pattern in the
question figure?

wie @ 3 HET ww Fgla & ofw g
FLaM?

“~J

@@
e
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Options:
1)

4)

Correct Answer:

®

Candidate Answer:

O)

QID: 42 -

Which answer figure will complete the pattern in the
question figure?

FiT T IR HFT TH HFT & Tawa & g
FLIN?
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Options:

1)

4)

Correct Answer:

Candidate Answer:

QID: 43 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 3R A A ¥ 39 =W AP o ghEw
orw & ux amgla BfeT &

4

fgradt i
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Options:
1)

/

/

4)

Correct Answer:

Candidate Answer:

QID: 44 -

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 3R g H F 37 =R AP F gEw

S & oy amgla Bfes ®

2\

& oo
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Options:

1)

O

A

N

4)

Correct Answer:

Candidate Answer:

QID: 45-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

A & ue AR # R FgaR dee &
AT DS TAT Wieldd & a6 I¢ [ FH 39X AP
Star fers e

/A A 14

fgradt i
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Options:

1)

)
0 &0

N

w

'S

D] B [P

e

o
o
=1

o °
Q

bO >

o 2
S
[}

Candidate Answer:

O
o L0

QID : 46 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

A & uH P # R FgER FEe @
AZpT Ted YT Wioe & a5 I fohd 397 APl
s feas gome

‘r‘ AH:~ '!i 3

(=]

Jgrad-& i
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Options:
1)

N
~

o [+]
o o

'S
=

-]

o
o
3
o
1}
>
=]
[7}
=

er:

o
o

o o]

Candidate Answer:

o =]

o o]

QID:47-
If @ mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afE U IqUT @Y AB TET UT T@r ST, ar & T
IO HHAAT A & Pia O Hgla wF g

T8 ufafease gefre

19
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Options:
1)

4)

)| [ @] B

Correct Answer:

>

Candidate Answer:

>

QID : 48 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ify me Z9uT @ AB ¥@r W @ S, & & S
IOT ATl & ¥ Big @ BT A el A
Ter ufafeasa gefre

@

D

A B

& oo
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Options:
1)

w
@n
(&)

3

3)

2

4

3

Correct Answer:

e

Candidate Answer:

QID: 49 -

A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in the altematives are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix- are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘K’ can
be represented by 03, 34, etc_, and ‘E’ can be represented by 59, 97, efc.
Similarly, you have to identify the set for the word “SHOP".

UF e A Uh WEA-UHE GRT guidr R ¥, ok B Riwedt & &
forelt wem A feam orar ¥ Reent #d Ru aw @Ay wawt & o gt
srT guiw arw §, ok & Ru mw g amegpl @ &1 wegel 5 owaew sk
afis & wEar0 ¥ 4 ¥ AR megEll Y5 91 57 IR A T HaW A
uEd suh! Ufth 3R @lg # N G GRT gUiET ST HhdT ¥ SER}oT
& fow K @1 03, 34, e Ry geifar 51 wehar ¥ G B @ 59, 97,
e grr gatar it @war ¥1 e ave ¥ o wm @ Ru weg “SHOP”
& T AHE @ TEaEET #)

Matrix-| Matrix-ll

Frege Fregel
o 2] 3 4 S5(6|7|8|9
OIR|S|H|K|A S|T|N|JP|O|E
1|KIA|R|S|H 6(0|E|T|N|P
2|S|H|K[A|R TIN|[P|OJE|T
3|A|R[S|H|K BE[T|IN|[P|O
4| HIK|A[R]|S 9(P|O|E|T|N

Options:
1) 01, 21, 58,96

2) 44,02, 89,76
3) 14, 33,77,56

4) 33,40, 65, 88
Correct Answer: 44,02, 89, 76
Candidate Answer: 44, 02, 89, 76
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A word is represented by only one set of numbers as given in any one of
the altemafives. The sets of numbers given in the altematives are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘X’ can
be represented by 10, 44, etc, and ‘M’ can be represented by 75, 99, etc.
Similarly, you have to identify the set for the word “PLAN".

US 9feg Haed UH GE-GHE g gutar ¥ S & Rt F @
forelt wep & foem wram ¥) Rt & Ry v dearwap awl & o auf
arT guife arw ¥, S R R & amegEt # ®1 e $ owew AR
ufes &7 FE1 0 ¥ 4 ¢ 3N gl 5 F 9) 59 E F U HEW A
uee 3 ufth 3R arg & woew ww Ry g S g €1 SgieRer
& T X- 10, 44, 3 grr gutar s @war & GAr ‘M- @Y 75, 99,
3T &7 gulan o §Far &1 6 oRE @ ST uA & f&v weg “PLAN”
& foT woE & ggmeT B

Matrix-I Matrix-Il

g Fege-ll
0(1[12(3]4 5|6|7]|8]9
O[P|CIE|X|N SIAM{L|I]S
1|X|N|P|[C|E 6|1 |S|AIM[L
2|E|X|N|P]|C TIMIL|I[S|A
J|IC|E|X|N]P 8(S|AM[IL[I
4 [N|PJC|E[X 9IL[I[S|A|M

Options:
1) 12,58, 67,40

2) 41,76,98, 04
3) 00,95, 57,12

4) 23, 68,79,22
Correct Answer: 41,76, 98, 04
Candidate Answer: 41, 76, 98, 04

QID : 51 - Devaluation is majorly doneto _____.

T qEAd: o forg fRar STt 81
Options:
1) encourage export

M & forg

2) encourage import

3T &t I3 & iy

3) discourage import

ST I HH HEA &

4) To encourage both export and import
qUT ST ST hl Fo & forw

Correct Answer: encourage export

frafa &t gem & fog

Candidate Answer: encourage export

rafa &t e & fag

QID : 52 - Foreign investment is known by which name in India?

IR # fageft Fder ot fone w7 @ S S &2
Options:
1) SME (Small and medium-sized enterprises)
9. TH. 3. (YW, oY Td HeaH I )
2) MDI (Management Development Institute)
. &, 3. (v shenfiih dwerr)
3) FDI (Foreign Direct Investment)
. S, oS, (wcet fageft fdar)
::% C&IrIéConfederation of Indian Industry)
. TS, STS. (R e ufae)
Correct Answer: FDI (Foreign Direct Investment)

. &, s, (Teer fadeft fde)

Candidate Answer: FDI (Foreign Direct Investment)

. S, oS, (weet fageft Faar)



www.gradeup.co @
g p <% gradeu;

QID : 53 - What is the full form of NNP?

QG T SrifaTe w0 T 82

Options:

1) Normal Net Production

= et Ieare

2) Net National Product

RERUIERTI

3) Normal National Produce

A TER I

4) Net Normal Produce
HMAT TS

Correct Answer: Net National Product
UG TEIT IS
Candidate Answer: Net National Product

3 T I

QID : 54 - 'Inclusive Growth' was the objective of which Five Year Plan?
‘gaasft faeer fohg dererdTa TisTT o1 32T 91?
Options:

1) Tenth

ESSE)

2) Eleventh

Rgdf

3) Twelfth

qREd!

4) Ninth

it

Correct Answer: Eleventh

Candidate Answer: [ NOT ANSWERED |

QID : 55 - The Green steel plants of Bhilai, Durgapur and Rourkela were established under which Five Year Plan?

TS, TR T TRt & g STUTT TG i YA fohg deraiTa 1T & &R <Al T8 off?
Options:

1) Second
2) Fourth
eft

3) Fifth
gt

4) Sixth
G4

Correct Answer: Second

Candidate Answer: Second

QID:56-Ina

TR aiferm o o i afes <t grT g g faffe & o & gt anfag

Options:
1) Authoritarian
SRR

government, the final decision-making power must rest with those elected by the people.

2) Autocratic
R

3) Monarchic
NEGECIC]

4) Democratic

Correct Answer: Democratic

Cand_idate Answer: Democratic

QID : 57 - Which of the following statement is true about “Community Government”?

I. This government is elected by people belonging to one language community.
1. This government has the power regarding cultural, educational and language related issues.

frfeEa & 9 &F 97 aTeRy Ingerfie TRaR & e 7 el 82

|. $9 TR T AT Ueh g1 HINT el aTet anT et &l
I1. 3 TRHR Y Tpfa, fAerm ok e I Aoyl R et A7 a1 ifdar 81
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Options:

1) Both land Il
| T [l &=

2) Only |
e |

3) Only Il

had |l

4) Neither | nor Il
Fariai

Correct Answer: Both | and Il

| a2 11 &Y

Candidate Answer: Only Il
&ad I

QID : 58 -

I HeeT H qated Ol el MR T4 IGeh faf¥ia smgdfies seprsal & ot s St 1

Options:

1) Feudalism
qrdere

2) Democracy
SICEE

3) Federalism
Heare

4) Aristrocracy

is a system of government in which the power is divided between a central authority and various constituent units of the country.

Correct Answer: Federalism
Hqydiq

Candidate Answer: Democracy
deh-a

QID : 59 - Under which pardoning power of the President, one form of punishment is substituted by a lighter form?

frafeEa & & agufa & fone emrer ke & sidfd, <8 &t Ipfa @t 718 fam S 872

Options:
1) Commutation

ESas

2) Remission
3) Respite
firqenvor

4) Reprieve
BIEEEC]

Correct Answer: Commutation
TTYhUT
Candidate Answer: [ NOT ANSWERED ]

QID : 60 - Concept of Judicial Review in Indian Constitution has been taken from which country?

AR i & =i gelern o vraar fhg 31 @ forar mar 82

Options:
1) Ireland
IRRAS

2) USA
quEay
3)vAustraIia

4) Canada

hTST

Correct Answer: USA
quEyg

Candidate Answer: USA
quEay

QID : 61 - Council of ministers are collectively responsible to which of the following?

s #3it aReg Ffafea 3 @ forass ufa amfes w9 € Sorar g 87

Options:
1) President

2) Lok Sabha

IR g

3) Prime Minister

T H

4) Speaker of Lok Sabha
Ik 9T & Sreder

Correct Answer: Lok Sabha
e T

Candidate Answer: Lok Sabha
e g1
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QID : 62 - The vote of the speaker of Lok Sabha is called .

ARG F ST AT aE _____ hgerdl gl

Options:
1) Casting vote
Hd

2) Sound vote
@ A7d

3) Direct vote
UT& A

4) Indirect vote
Y& A

Correct Answer: Casting vote
Aaq

Candidate Answer: Casting vote
ot 7

QID : 63 - Which of the following state does not have bicameral legislature?

frafafea 7 @ fova asa A fgae R 781 82

Options:
1) Madhya Pradesh
Y U

2) Telangana
AT

3) Uttar Pradesh
IR A

4) Bihar

fagR

Correct Answer: Madhya Pradesh
e ueT

Candidate Answer: Uttar Pradesh
IR W1

QID : 64 - In Indus valley civilization, Great Bath is found in which of the following place?

e o1&} T 7, JeeHrR a1 e EeR fFafafea 7 € forg R & uren mn 82

Options:
1) Lothal
et

2) Mohanjo-daro
A Sitest

3) Mitathal
[ERIEC

4) Kalibangan
Eacicull

Correct Answer: Mohanjo-daro

Candidate Answer: Mohanjo-daro

QID : 65 - Taxila University is located currently in which country?

et g foener adam § fhg S & R 82
Options:

1) Bangladesh

AT

2) India

ARA

3) Pakistan

urfhea™

4) Nepal
Jutet
Correct Answer: Pakistan

Candidate Answer: India
AR

QID : 66 - Battle of Haldighati was fought between which two armies?

EETE T g ot 3t et & ot efgT T Au?

Options:

1) Babur and Lodi Empire

TR TAT A AT

2) Babur and Rana Sanga

TSR AT 0T FTT

3) Akbar and Hemu
STRER JAUT &,

4) Akbar and Maharana Pratap
3fehaR dUT HGRIUM UaTq

Correct Answer: Akbar and Maharana Pratap
B{cheR YT HGRTUIT UdTq
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Candidate Answer: Akbar and Maharana Pratap
HcheR dUT HGRTUIT UdTq

QID : 67 - Where did Gautam Buddha took his Samadhi?

T g5 = AgTuRRf=ator wgf forar am?
Options:

1) Patna

roil

2) Kushinagar

FfTR
3) Varanasi
IRToT

4) Sarnath
ARATY

Correct Answer: Kushinagar
TR

Candidate Answer: Kushinagar
FfTR

QID : 68 - Who had built the 'Amer Fort'?

Options:

1) Akbar

3TheR

2) Raja Man Singh
NEIEICRRH

3) Uday Singh Il
g g Il

4) Maharana Pratap
HGIRTUTT UdTta
Correct Answer: Raja Man Singh
T A g

Candidate Answer: Raja Man Singh
NI CARH

QID : 69 - On which of the following date/dates, winter solstice is observed in Northern Hemisphere?

I. 21st December
II. 5th August
IIl. 10th January

f=fafaa 3 9 forg/foe R/ fafat w 3t M, & fiae et sramia &t 2ar sTar &2

. 21 feg=R
1. 5 3T
1. 10 S
Options:

1) Only |
hae |

2) | and Il Both
| T 1 &=

3) Only Il
haet Il

4) Only Il
Fae Il

Correct Answer: Only |
et |

Candidate Answer: [ NOT ANSWERED ]

QID : 70 - Barren Island is located in which of the following country?

R gu FfafEa # @ e A R §?

Options:
1) Iltaly
gaeft

ZZAustraIia
3) India

ARA
4) Pakistan
urfhear™

Correct Answer: India
HRd

Candidate Answer: [ NOT ANSWERED |

QID : 71 - What is a strait?

Ueh STeradT (Re) wmg?
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Options:
1) A water body separating two land masses
St AT Y ST A ITAT Yk Tt fepra
2) A narrow strip of land separating two water bodies
Sl STt TeRrl ol STeTT St aTelT of3 el Ueh Temet gt
3) Deep penetration of a water body in land
T Yeh ST fehTa o1 T8 UaT
4) None of these
FHIFE TS
Correct Answer: A water body separating two land masses
Y ST Y ST e ITAT Yok STt (Hehrd

Candidate Answer: A water body separating two land masses

ST 3T T STERT et aTelT Goh ST e

QID : 72 - Which of the following country is a land locked country?

fAffea A e arer A de 3 §?
Options:

1) India

ARA

2) Malaysia

At

3) Switzerland

feaceRas

4) Isakistan
rfhea™

Correct Answer: Switzerland

Candidate Answer: [ NOT ANSWERED |

QID : 73 - The only planet whose period of rotation is longer than the period of revolution around the sun?

QeRATS UE forerh! gui & orafdy g3 & IRy ik aReraor &l safd & s1fdes 82

Options:

1) Mercury
£

2) Jupiter
3) Venus
Lh

4) Neptune
Erayl

Correct Answer: Venus
Ash
Candidate Answer: [ NOT ANSWERED |

QID : 74 - Who among the following is known as 'Father of Medicine'?

fafafed 3 2 fFd siwf famm o1 S 71T Sfrar 82

Options:
1) Darwin

2) Hippocrates
feuiches

3) Heckle
bl

4) Edward Jenner

TSds SR

Correct Answer: Hippocrates
Candidate Answer: [ NOT ANSWERED |

QID : 75 - Which of the following is a vestigial organ in human body?

fF=fafad 3 9 & 91 719 IRR &1 U srasitt g2
Options:

1) Tailbone

2) Spleen

faett

3) Thyroid

Terify

4) Gall bladder
ISR

Correct Answer: Tailbone

Candidate Answer: Spleen

QID : 76 - Which of the following cell organelle is responsible for cellular respiration?

frfefaa & @ oie <t sifenr simer wiefa 5= & forg Ia=erd 82
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Options:
1) Golgi bodies
et arer

2) Mitochondria
3) Nucleus
4) Lysosomes

Specacy
Correct Answer: Mitochondria

Candidate Answer: Lysosomes
SEEEAN)

QID : 77 - Who among the following gave ‘The Theory of Natural Selection'?
frfafea | & foram ‘ureies o= a1 Rigia far ar?
Options:

1) Richter

Reex

2) Lamarck

3) Darwin

gifda

4) Redi

T

Correct Answer: Darwin

Candidate Answer: [ NOT ANSWERED |

QID : 78 - Which of the following pair is INCORRECT?

I. Crocodile — Reptile
IIl. Frog — Amphibian
Il. Tiger — Reptile

frfefea & & o a1 g 98t 181 82
. TRAS — SU

Il. H&eh — IR

M1 519 — ST
Options:

1) land Il
It il

2) land Il

gl

3) Only Il

e |l

4) Only Il

e I

Correct Answer: Only IIl

et Il

Candidate Answer: Only IlI
EcAlll

QID : 79 - Uric acid is chief nitrogenous waste of which of the following?

frfafea & @ gies st fhaeT g g Arsgifoa smfe 82

Options:
1) Human
BIEC)

2) Frogs
b
3) Fishes
R

4) Birds
geft

Correct Answer: Birds
geft

Candidate Answer: Birds
geft

QID : 80 - Masses of stars and galaxies are usually expressed in .

AR AT STeRIRATTST & gegTl eht & dae § =k fohar ST 81
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Options:

1) Earth's mass

g} T geHH

2) Solar mass

T o s

3) Lunar mass

AT BT ST

4) Neutron mass

I T GehHH

Correct Answer: Solar mass
& &l g

Candidate Answer: [ NOT ANSWERED |

QID: 81-
Match the following.

Teaferag & Fea fifam)

Quantity / AT Sl Unit/ oW, 318, SIS
1. Resistance a. Watt

TR aic
2. Energy b. Ohm

EE ] e
3. Power c. Joule

NIEd =

Options:
1)1-b2-c¢3-a

2)1-a,2-¢3-b
3)1-b,2-a3-c¢c
4)1-c¢2-a3-b

Correct Answer: 1-b,2-c,3-a
Candidate Answer: 1 -b,2-¢,3-a

QID : 82 - Which of the following is widely used in making semiconductor chips?

fFafafed & @ fhgen Sudi aarue w0 @ siefarde g g9 & forar ST 82

Options:
1) Radium
dTm

2) Sodium
ifsaw
3) Germanium

4) Sulphur
Heh

Correct Answer: Germanium

Candidate Answer: Germanium

QID : 83 - The first law of thermodynamics is related to conservation of which one of the following?

SEATTTA! &t wam Rigid Feafafad & @ forg & e § gefea &2
Options:

1) Energy

St

2) Number of molecules
Srupsif & T

3) Number of moles
Htet Y =

4) Temperature
AgHE

Correct Answer: Energy

Candidate Answer: Energy
St

QID : 84 - Any data (or) instruction entered into the memory of computer is called as .

FE s o R S fF R A AR A s T g Sw ____ &ed ol

& oo
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Options:
1) Hard copy
&1 et

2) Input
&4

3) Output
A3y

4) Information

Correct Answer: Input
FYe
Candidate Answer: Input

T

QID : 85 - Which of the following is not a computer language?

I. C++
II. Java
III. Linux

frfafea & & &9 9t o srger oo 181 82

I.C++

1. Sfrer

. SATgTa
Options:
1) Only |
haet |

2) Only Il
EcAlll

3) lland Il
il
4)landll
lqarll

Correct Answer: Only IlI

EcAlll

Candidate Answer: Only IlI
EcAlll

QID : 86 - Which material is used in the manufacturing of electric heater coil?

TR glex dhiget & fafor & fore uaref o1 Iuzihr fomar Srar &2
Options:

1) Copper

drer

2) Iron

Ser

3) Nickel
[BEX]
4) Nichrome

Correct Answer: Nichrome

Candidate Answer: Nichrome

QID : 87 - Which of the following cloth will readily catch fire?

fafafed 3 @ o a1 FueT STaTt T 3T gehgdT 82

Options:
1) Cotton cloth
Geft e
2) Polyester cloth

1l T HUST
3) Acrylic cloth

T HUST
4) Nylon cloth
T HUST

Correct Answer: Cotton cloth
el chursT
Candidate Answer: Acrylic cloth

Qfehfcres &1 ueT

QID : 88 - Which of the following are the main components of stainless steel?

frafofEa 7 @, Srieh geurq & e ueeh i 4 87
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Options:

1) Iron and carbon
IET qT e

2) Silver

EIE

3) Iron, chromium and Nickel
, Shiferge qem
4) Iron and nickel

Stgr aur et

Correct Answer: Iron, chromium and Nickel

oiteT, shiftaw qur e

Candidate Answer: Iron, chromium and Nickel

<iteT, shiftaw aur Pee

QID : 89 - Which of the following metal has the lowest density?

frfafea & & frg a1g o1 o o & 82

Options:
1) Lithium
ferfrm

2) Iron

3) Gold

T

4) Vanadium

gAfeTm

Correct Answer: Lithium

Candidate Answer: [ NOT ANSWERED |

QID : 90 - Which of the following primarily produces Nitrogen dioxide leading to air pollution?

frfeea & & & arg agwor & g SHivft ATSgie STSsiiaRTss &l ITUfieh dR TR ScTes hdl 82
Options:

1) CFL Lamp

Tt U U T

2) Automobile Battery

NIEICIEC

3) Polymer

4) Diesel Engine

ESEESE]

Correct Answer: Diesel Engine

3IITet S5

Candidate Answer: [ NOT ANSWERED |

QID : 91 - What was the main aim of Kyoto Protocol?

R Hicieplel ol e g T AT?

Options:

1) Conservation of wetlands
STt T

2) Bio-diversity Conservation
Siq fafererar & dremor

3) Global Warming

ot atfeT

4) Climate Change
Serarg uRad=
Correct Answer: Global Warming

[GIEE LGN

Candidate Answer: Global Warming

Tefteret affeT

QID : 92 - If in any water Body, there is high BOD value then it is generally .

IR foheht Sremerr A ot o1 A oifdes §, A ag U gt @l
Options:

1) Very clean

gd 9k

2) Very polluted

3) Highly productive

Srcafden Ieash

4) Highly unproductive

IR STFUTGR

Correct Answer: Very polluted
g3 g

Candidate Answer: Very polluted

Tga v

QID : 93 - What is the name of the scheme for food processing sector to be launched by The Ministry of Food Processing Industries?

QT TEEARR0T SENT HATd GIRT @Tel THehvoT & folq S Sl ST aTel TISTT ol 3T AT 872
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Options:
1) MITRA
B

2) URJA
Fat

3) SAMPADA
Ll

4) BHOJAN
i

Correct Answer: SAMPADA
et

Candidate Answer: SAMPADA
et

QID : 94 - Who among the following is an inventor of an electric telegraph?

frafafaa & & o g arae @1 snfisaras 82
Options:

1) Samuel F. B. Morse

Jrgaret g, off. A

2) William Austin Burt

faform siffee ¢

3) Hans Lippershey

& foradst

4) William Stanley

faform et

Correct Answer: Samuel F. B. Morse
dwgaret g, off. AR
Candidate Answer: [ NOT ANSWERED |

QID:95-

L

Options:

1)1-b2-c¢3-a
2)1-a2-b3-c¢c
3)1-a2-¢3-b
4)1-c¢2-a3-b

Correct Answer: 1-b,2-c,3-a
Candidate Answer: 1 -b,2-¢,3-a

QID : 96 - 'Mohiniattam' dance is associated with which of the following state?

Hifgfteren’ 7 T I 5 v § efda 82
Options:

1) Kerala

Eagl

2) Karnataka
Ffeh

3) Tamil Nadu
amd g

4) Andhra Pradesh
3T IS

Correct Answer: Kerala

Candidate Answer: Kerala

QID : 97 - Who among the following is a recipient of Padma Shri for the year 2016 in the field of Art-Music?

frafofea & @ @i deftd-aer o & J a 2016 & ga7ef vreehdt 82

Options:
1) Sonu Nigam
g frm

2) Kailash kher
EINECH

3) Aruna Mohanty

30T Higeft

4) Shubha Mudgal

ST et

Correct Answer: Kailash kher
ShHeTST W

Candidate Answer: Shubha Mudgal
[T HgeT

QID : 98 - Who amongst the following authored the book 'Gandhi in Champaran'?
fafafEa & § & 'wieft 37 JuRT gae & akas 82
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Options:

1) M. Veerappa Moily

. fiRar HJelt

2) Dinanath Gopal Tendulkar

SHTTY TTUTeT dgerent

3) Dr. Ashwini Kumar

St aAfgf FaR

4) M. P. Veerendra Kumar

. 0t dRg AR

Correct Answer: Dinanath Gopal Tendulkar

QHTETY T dgeehy

Candidate Answer: Dinanath Gopal Tendulkar

QHTTY AT dgerent

QID : 99 - India and South Korea have signed a MoU on ship building. Which organisation has been nominated by India for this collaboration?

IR T &F&I0T SIfAT = Uid 0T o forg Ger Trsiiar [0+ (THSTY) IR §%d1eR fhd §1 R 3 fohd 9™ &l 59 Gge1iiraT & g #=i=ia fomar &2
Options:

1) Hindustan Shipyard Limited

g Rt fafies

2) Magazone Dock Limited

ArTE Sies fafies

3) Cochin Shipyard Limited

Hif R s

4) Hoogly Dock and Port Engineers limited

el Sk et uié Sefif s

Correct Answer: Hindustan Shipyard Limited
3 Rars

Candidate Answer: [ NOT ANSWERED |

QID : 100 - Which two neighbouring countries of India held military exercise named 'Sagarmatha Friendship — 2017'?

IR & o a1 USSR 320 7 'GRAS @3ar - 2017 A S 3719 I SIS fohar?
Options:

1) Afghanishtan-Pakistan

SHTAEAT-UTfRET

2) China-Bhutan
-

3) China-Nepal
H9-Jurer

4) China-Pakistan

H-uifeream

Correct Answer: China-Nepal
-

Candidate Answer: China-Nepal

fH-Tarer

QID : 101 - The sum of three consecutive odd numbers is always divisible by ____.

& e faws st e Al gasn Rnfea gar g1
Options:

13

2)9

3)15

4) 21
Correct Answer: 3
Candidate Answer: 3

QID : 102 - A boy added all natural numbers from 1 to 20. However he added one number twice, due to which the sum becomes 215. What is the number which he
added twice?
ek A€l 1 ¥ 20 deh dhr T vrepfres et ot siredt & Afch ag Tes Tt ot &l IR SiE 3aT & foradh rom I 215 8) SirdT &1 98 T¥et & & gt 399 & aR Siter 82

Options:

15

2)7

3) 11

4)15

Correct Answer: 5

Candidate Answer: [ NOT ANSWERED |

QID : 103 - 6/7 part of a tank is filled with oil. After taking out 60 litres of oil the tank is 4/5 part full. What is the capacity (in litres) of the tank?

eh Echl T 6/7 9T a1 & -1 81 60 Hex at Fehter &7} & a1g S T 4/5 W ¥IRT Y& &1 hl Y erar (eftex &) Fm 82

Options:
1) 350

2) 700
3) 360

4) 1050
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Correct Answer: 1050
Candidate Answer: 1050

QID : 104 - For what value of N, 34N will be a perfect cube, where 34N is a 3 digit number?

N & forg AT & f7g 34N Qo gof &= g7, Sgt 34N e 3 Sichl i S &2

Options:

1)2

2)3

3)4

4)5

Correct Answer: 3
Candidate Answer: 3

QID: 105 -

What is the value of

il oo loanl vl
27 '8 12 20 30

111%+111%+111l+111i+111ia:r AT =

12 20 30
2ram?
Options:
1

1111
6

2)

L

3

555—
6

4

5551
6

Correct Answer:

555E
6

Candidate Answer: [ NOT ANSWERED ]

QID : 106 - P, Q and R together can complete a work in 40 days. P and Q together can complete the same work in 90 days. Then R alone can complete the same work
in how many days?

P, Q T R firerenz foreft amd @t 40 fAT # R1 = vl 31 P U Q ST &t &t 90 AT # GR1 R Tehet &1 R S1hedT 39 &hrd bl fohet ol A ORT e HehelT 82
Options:

1) 40

2)72

3)84

4) 90
Correct Answer: 72
Candidate Answer: 72

QID : 107 - A alone can complete the work in 10 days, B alone can do same work in 12 days and C alone can do the same work in 15 days. They jointly complete the
work and earn Rs 4500. What is the share of C?

A 3reha fenelt s &t 10 Rt ORT &R FendT 8, B STt I i @l 12 ol A qRT e FendT § T C Schel ST &hrd @t 15 fHAT H Q1 9 TRl 1 I8 Ueh A1 i oY ORT el & T
4500 %. AT &1 C o1 fRwar aan gim?

Options:

1) 1800

2) 900

3) 1200

4) 1500

Correct Answer: 1200

Candidate Answer: 1200
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QID : 108 - 3/4 of marked price is equal to 5/6 of selling price. What is the discount percent?

SifoRd e T 3/4 fareha 1w & 5/6 & SRR &1 e Hiawd T 87
Options:

1) 12.5

2)10

3)15

4)11.11
Correct Answer: 10
Candidate Answer: 11.11

QID : 109 - An article having marked price Rs 2400 is sold for Rs 1872. What is the discount percentage?

Teh g ot sifchd Jea 2400 %. §, &t 1872 3. H <41 S1AT &1 T T Ufaerd a1 82
Options:

1) 21

2)22

3)24

4) 26
Correct Answer: 22
Candidate Answer: 22

QID:110-If 3P =2Q and 2Q = 3R, then whatis P: Q: R?

gfe 3P =2Q qar2Q = 3R, @ P: Q : R g?

Options:

1)6:9:1

2)2:3:2

3)4:6:9

4)4:6:1

Correct Answer: 2:3:2
Candidate Answer: 2:3:2

QID : 111 - The ratio of the speed of Aman, Kamal and Manan is 4 : 5 : 6 respectively. What is the ratio of the time taken by Aman, Kamal and Manan respectively to
cover the same distance?
TRTIRT: STH, SHAA AT A ol TTFd T SITATT 42 52 6 &1 T Gt a0 et o ol hHRT: STFH, el 9T 74 gRT ford T I T SiguTd T ghmT?

Options:

1)10:12:15

2)6:5:4

3)4:5:6

4)15:12:10

Correct Answer: 15:12:10
Candidate Answer: 6:5:4

QID : 112 - Average of 36 results is 18. If 2 is subtracted from each result, then what will be the new average of the results?

36 uRomt &1 3iwa 18 &1 aft udes uRoms @ & geran Sirdar 8, af gRomat v w1 sitad = ghm?

Options:
19

2)16
3)17

4175
Correct Answer: 16
Candidate Answer: 16

QID : 113 - The average marks obtained by 140 students in an examination is 90. If the average marks of passed students is 120 and the number of students who
failed the examination are 90, then what is the average marks of students who failed the examination?

Teh e & 140 BT5 & gRT U e 8ich 90 &1 afe S<fiof o1 & ofiera sfer 120 & dur srxitof 1= 6 Twear 90 &, at udten & srxiof gu o & offera sic o 82

Options:
1) 60

2)73.33
3) 85.66

4) 88
Correct Answer: 73.33
Candidate Answer: [ NOT ANSWERED |

QID : 114 - A shopkeeper professes to sell his goods at cost price but uses a 930 gm weight instead of 1 kilogram weight. What will be the profit percentage of the
shopkeeper?

Teh GERTFIGR 370 TTHT aht 2ha Hed UR S SRl G1aT ShedT & ifchT I8 Ueh foh.30T. o SiTe & <19 1R 930 UTH & 1 ShT TRINT hedT & | GERTIGR ol ofTeT Tfaira m gim?
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Options:
1)3.76
2)7.52
3)9.85
4) 10.36

Correct Answer: 7.52
Candidate Answer: 7.52

QID:115-
The cost of pencil is 33 %% less than the cost

price of a pen. If a man sells 4 pencils at the cost
price of 5 pens, the what is his profit percentage?

U Ul & T qoT U HoH & hT Jod
SS%Dﬁ-’rQIﬁm%IﬂﬁmmﬁF4&ﬁ?~raﬁ

5ol & T HeT W =T §, ar SHET A1
ufaed a7 gem?

Options:
1) 50

2) 66.66
3)75

4)87.5
Correct Answer: 87.5
Candidate Answer: [ NOT ANSWERED |

QID : 116 - If the radius of a circle is increased by 50%, then what will be the percentage increase in the area of circle?

& Yeh g1 1 Bar # 50% el gieg; T STl 8, T g7 S &15thel A feha HTIRId el gieg 1iT?

Options:
1) 225
2) 125
3) 150
4)175

Correct Answer: 125
Candidate Answer: 125

QID : 117 - If the height of cylinder is increased by 35% and radius is increased by 10%, then what will be the percentage increase in curved surface area of cylinder?

I Yep I Y Fars & 35% Y gfg it St & qen Bswr 7 10% &t g i <t €, oY Soi o ash geta &rher # foham wfawra &t gig givfi?

Options:
1) 46.5

2) 45
3)485

4) 49.7
Correct Answer: 48.5
Candidate Answer: 48.5

QID : 118 - A boat goes 2 km upstream and 3 km downstream in 20 minutes. It goes 7 km upstream and 2 km downstream in 53 minutes. What is speed (in km/h) of
the boat in still water?

e A9 20 fire § 2 foh. . oy & ufdgee qur 3 foh.m . o1 & Srdhe St &1 @8 53 e § 7 foh . oy & ufiigeet a2 foh . oy & Srce it 81 FOR &t # 1@ &t mifa (R
ufa de1 7) Fr 872

Options:

1) 75/7

2) 120/7

3) 135/7

4)150/7
Correct Answer: 135/7
Candidate Answer: [ NOT ANSWERED |
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QID : 119 - A train can travel 25% faster than a car. Both start from point A at the same time and reach point B 165 km away at the same time
takes 40 minutes for stopping at the stations. What is the difference in the speeds (in km/hr) of train and car?

Ueh YeRTIE! Tah R § 25% ot detd! 81 A1 foig A & Ueh 8t T0g IR TR ahed & a1 165 6.5, o fa foig B R ues €t g ugad &1 Anf & Yot @i iR T & fog 40 fme
et &1 FeTTSt aUT BR Y i H Ry ofaR (fp. . ufa ger H) 82

Options:
1) 6.375

2)7.635
3)9.75

4) 12.375
Correct Answer: 12.375
Candidate Answer: [ NOT ANSWERED ]

QID : 120 - An amount was lent for one year at the rate of 18% per annum compounding annually. Had the compounding been done half yearly, the interest would have
increased by 324. What was the amount (in Rs) lent?

Teh GRITRT &t 1 9 & g 18 ufarrd ufde Tengls saret ol & & SUR fan mam| Tshgfg saret sidfarfier g1 IR, =1et 324 3. ¢ ST 8| IUR & 7% 97RIf (3 7) Far ofi?

Options:
1) 32000
2) 36000
3) 40000
4) 72000

Correct Answer: 40000
Candidate Answer: [ NOT ANSWERED |

QID : 121 - A certain sum becomes 5 times in 3 years, at simple interest, then in how many years it will become 13 times?

IS FIYROT TS WR TS 15 g G-I 3 AW A 5 AT 81 ST &, f feer=t st A &g 13 T[T 81 Sget?

Options:
1)6

2)15
3)9

4)12
Correct Answer: 9
Candidate Answer: 9

QID:122-

The line chart given below represents the runs scored by
Kohli and Sharma against5 teams.

T Rraw i T & g Fw AT T 5AAT F
IFg 9T 7T & @Y g2ATT T B

—*Kohli/Fgal ™ Sharma / AT

]

o

o
1

Team /| &

What is the total runs scored by Kohli against 5 teams?

Pigel! R 5 S & faeg a1Q 7T Tt 3 fohet 2
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Options:
1) 5000

2) 4800
3) 4700

4) 4500
Correct Answer: 4800
Candidate Answer: [ NOT ANSWERED |

QID : 123 -

The line chart given below represents the runs scored by
Kehli and Sharma against 5 teams.

#rr for o Y B A Freeh gur o= R 5 8ET
e 9T 7T AT @ g2 T &

~*Kohli /gt ™ Sharma / AT

1600 -
1400 - 1400
1200 -
1000 -
800 -
600 -
400 -
200 -

Runs / &1

Team / &

What is the difference between the total runs scored by Kohli against the teams Q and R and total runs scored by Sharma against the teams Q and R?

PIgel! gRTEM Q TUT R & faeg F91Q 1Y et AT 2T 2/f GRT € Q AT R & faeeg §H1Q TG G 31 H fohaT SfeR 87

Options:
1) 200

2) 400
3) 900

4) 800
Correct Answer: 800
Candidate Answer: 800
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QID:124-

The line chart given below represents the runs scored by
Kohli and Sharma against5 teams.

&= fow oo @ =T # Figel 9ur aAT e 58HAT &
e 9T 7T & A g2 TR E

—*—Kohli / FEAT ™ Sharma / IAT

1600 -
1400 -
1200 -
1000 -
800 -

600 -

400 -

200 -

Runs /T

Team /| &

Runs scored by Kohli against team S is how much percent less than the runs scored by Sharma against team S?

Figel! gRT AT S & fAeg T 7MY A, 4 gR1 a7 S & e 7717 71 39 & foha= ufasma &0 €2

Options:
1)70.21

2)68.33
3)58.33

4) 41.66
Correct Answer: 58.33
Candidate Answer: 58.33
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The line chart given below represents the runs scored by
Kohli and Sharma against5 teams.

&= fow oo @ =T # Figel 9ur aAT e 58HAT &
e 9T 7T & A g2 TR E

—*Kohli/FgAT ™ Sharma / 9TAT

Team /| &

Total runs scored by Sharma against 5 teams is what percent of total runs scored by Kohli against 5 teams?

2mf g1 5 O & fegg, T91T 1Y et T, igett g1 5 O o faveg a7TQ 71U et T et e wifarRid 872
Options:
1)104.16

2)96
3)98.13

4) 108.24
Correct Answer: 104.16
Candidate Answer: 104.16

QID : 126 - If the height of a given cone becomes four times and the radius of the base becomes twice, then what is the ratio of the volume of the given cone and the
volume of the new cone?

I fg Mg 2igy Y FaTg TR AT 8 ATQ AT IHS SR HY Bran & A7 g S, 7t Ry 7Y 27 & S T Y i & SR Rl ST T gIT?
Options:

10)1:4

2)1:8

3)1:16

4)1:32

Correct Answer: 1:16

Candidate Answer: 1:16

QID : 127 - Parallel sides of a trapezium are 26 cm and 40 cm and the area is 792 cm2. What is the value of the distance (in cm) between parallel sides?

Toh GHE Tl oY THIAR oy 26 A.#. o1 40 4., & quT IqH Sthet 792 V.7 2 81 TwicR yorait & dtw B g (@ A H) fhah @nfe
Options:

1)24

2) 48

3)12

4) 36

Correct Answer: 24

Candidate Answer: [ NOT ANSWERED ]

QID : 128 - The area of a circle is same as the area of a square. What is the ratio of the diameter of the circle and diagonal of the square?

e I T Sl ek ot oh &1TThel oh SRTSR & | g o 2T T &t o farenuf ant sruTal aram givm?
Options:

1)1:vn

2)2:vn

3)v2:vm

49H1:mn

Correct Answer: v2 : V1t

Candidate Answer: [ NOT ANSWERED ]
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QID : 129 - If the perimeter of a rhombus is 40 cm and one of its diagonal is 16 cm, then what is the area (in cm?2) of the rhombus?

gfe; femelt Treragest o1 afRATg 40 @70, & quT 3T Ueh farehol o A 16 @A), 2, o geraqgedst 1 &oohet (3.701.2 F) a 82
Options:

1)72

2) 48

3) 96

4)192

Correct Answer: 96

Candidate Answer: [ NOT ANSWERED ]

QID : 130 - Two identical circles intersects so that their centres and the points at which they intersect form a square of side 2 cm. What is the area (in cm?) of the
portion that is common to the two circles?

< THEY I Yok GER BT 39 TR e ohed & o 3eh s T a8 g O R a8 ufiede ohwd € W Uen 2 ). s[oft are ot s &1 3 gt & Iwafs o ar gehet (.72
#) | g?

Options:

1)2n-4

2) 4m-8

3)3n-4

4Hmn-2

Correct Answer: 21 - 4

Candidate Answer: [ NOT ANSWERED ]

QID : 131 - If x -y = 3, then what is the value of x3 - y3 - 9xy?

giex -y =38, x3 - y3 - Oxy &1 7 T gm?
Options:

13

2)9

3)18

4)27

Correct Answer: 27

Candidate Answer: [ NOT ANSWERED ]

QID:132-

If x2—=9x + 1 =0, then what is the value of x3 Tia?
X

TEX2-9x+1=0 2 & x3+i3 FT AT FAT &7
X

Options:
1) 54

2) 108
3)702

4) 810
Correct Answer: 702
Candidate Answer: 54

QID:133-

lfa+b+c=3andnone ofa, band cisequalto 1,
then what is the value of

1 i 1 A 1 ”
(1-a)(1-6) (1-b)(1-c) (1-c)(1-a)

Oiga+b+c=3 W a, bdWc AT &g M1 &

TR T@ &, ar
1 1 1
(—a)(i-b) [(1I-b)(1-¢) (i—c)(i—a) o= =l
2
Options:
1)0
2)1
3)3

46
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Correct Answer: 0
Candidate Answer: 0

QID:134-

2 2 (3 .3
What is the value of[a i )(a—b)—[a = )?

a’b—ab’
[32 +b? )(a—b)—[a3 = }
Rl HTel <FT & ¢
a’b —ab? w
Options:
10
2)1
3)-1
4)3

Correct Answer: -1
Candidate Answer: [ NOT ANSWERED |

QID : 135 - What is the simplified value of (x728 + 1)(x32 + 1)(x6% + 1)(x® + 1)(x8 + 1)(x* + 1)(x2 + 1)(x + 1)?

(28 + )32+ 1) (B + 1)(xX"€ + 1)(xB + 1)(x* + 1)(x2 + 1)(x + 1) T TRefepet 71 o &2
Options:

1) x256-1
2)

256 _ 4

x—1
Correct Answer:

256 _ 4

x -1
Candidate Answer: [ NOT ANSWERED ]

QID : 136 - DEF is an isosceles triangle with such that DE = DF = 60 cm and EF = 96 cm. DG is a median to base EF. What is the length (in cm) of DG?

DEF e AfgaTg et & fSred DE = DF = 60 3.7 4T EF = 96 .71 1 DG MUK EF &t #fedent g1 DG o1 A (/.71 #) a1 ghm?
Options:

1) 22

2) 36

3)24

4)32

Correct Answer: 36

Candidate Answer: [ NOT ANSWERED |

QID : 137 - In AABC, AD and AE are bisectors of ~BAC and ~BAD respectively. If 2BAE = 30°, AE = 9 cm and EC = 15 cm, what is the area (in cm?2) of AAEC?

et ABC #, AD 2T AE shHST: 2 BAC 2T 2 BAD & fgorroreh &1 af 2 BAE = 30°, AE = 9 .5t qum EC = 15 .70 &, & RqsT AEC a1 &t (&.#1.2 #) & e e
Options:

1) 36

2) 54

3)72

4) 216

Correct Answer: 54

Candidate Answer: [ NOT ANSWERED |

QID : 138 - Circum-centre of APQRis O. If QPR = 55° and ~QRP = 75°, what is the value (in degrees) of LOPR?

APQR @7 uftdhg O &1 afe 2QPR = 55° @ 2QRP = 75° &, @t 2OPR &1 714 (f&ft &) o/ ghvm?
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Options:

1) 45

2) 40

3) 65

4)70

Correct Answer: 40

Candidate Answer: [ NOT ANSWERED ]

QID : 139 - A chord of length 120 cm is at a distance of 32 cm from the centre of a circle. What is the radius (in cm) of the circle?

120 3.7, il gk Sftar, o g0 & s @ 32 .. R &1 g Y e @A ) ®n d?

Options:
1) 96

2)34
3)72

4) 68
Correct Answer: 68
Candidate Answer: [ NOT ANSWERED |

QID : 140 - ABC is a equilateral triangle. O is the point of intersection of altitudes AL, BM and CN. If OA = 16 cm, then what is the semi-perimeter (in cm) of the triangle
ABC?

ABC G HaTg AYsT 81 0, AL, BM @1 CN & mfcresed ot fawg 81 afe OA = 16 T4, 8, dt BI3sT ABC &l srguRfer (.41, #) ==m gim?

Options:
1) 8v3

2)12v3
3)16v3
4) 24v3

Correct Answer: 24v3
Candidate Answer: [ NOT ANSWERED |

QID : 141 -

fo+g= g and tan 8 = /3, then what is the value of

cos (B—)?

afe B+q}=gﬁmtan8=«f§%, o cos (8- @) &
AT FT &7

Options:

1)1/2

2)v3/2

3)1

4)1/v2
Correct Answer: v3/2
Candidate Answer: v3/2

QID: 142-
If xand y are positive acute angles such that
3 3
2 2
is the value of tan (6x — 3y)?

sin(2x + 3y) = and cos(dx — 3y) = , then what

TfE x TUT y TATHE FFRIUT &, sin(2x + 3y) =

N[ S

JUT cos(@x —3y) = % T, @ tan (6x —3y) & AT

FaT &7



www.gradeup.co

Options:
10

2)1
3)1/v3

4)v3
Correct Answer: v3
Candidate Answer: [ NOT ANSWERED |

QID : 143 - If 3 cot 8 = 4 cos 6, then what is the value of cos 26?

afe 3 cot B = 4 cos 6 §, Il cos 20 T AT T T2
Options:

1) 2/16

2)-1/8

3)7/16

4)9/16

Correct Answer: - 1/8

Candidate Answer: [ NOT ANSWERED |

fgradt i

QID : 144 - A person observes that the angle of elevation of the top of a pole of height 15 m is 30°. What is the distance (in metres) of the person from the pole?

Qe <<k UTaT ¢ o 15 Hiex S8 aret Gen @ & i o 379 i1 30° §1 39 @ § aaf<h &l gt (e #) fhe it 82

Options:
1)15

2) 15v3
3) 15/v3

4) 30
Correct Answer: 15v3
Candidate Answer: 15v3

QID:145-If cosec? 6 + cot?2 @ = 7, then what is the value (in degrees) of 8?

& cosec? 6 + cot? 6 = 7 &, dt 6 &1 A (FeTft &) =i givm?

Options:

Correct Answer: 30
Candidate Answer: 30

QID : 146 -

The given pie chart shows the breakup (in percentage)
of monthly expenditure of a person.

T 7w g7 " & & = & A1As =g & faawor

(ufaera #) & T T &

/’/
Saving/

CEG]

20%

Education/

farem

/’/—'— ___EH.,—————

Clothes/
F93
15%

Rent / framam
16%

If the total salary of the person is Rs 50000, then what will be the expenditure (in Rs) on Rent?

afg eafth &1 et 3ma 50000 <. 3, dt foerd R e ma =g (<. #) aam gim?
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Options:
1) 16000

2) 12000
3) 7000

4) 8000
Correct Answer: 8000
Candidate Answer: 8000

QID: 147 -
The given pie chart shows the breakup (in percentage)
of monthly expenditure of a person.

fer 7 g7 s & e =T & F1f¥ w9 & Rz
(ufaera &) @ gefar T &

Saving/
CEG]
20%

Education/

farear

Rent / fFamam
16%

What is the central angle (in degrees) made by the sector of expenditure on Education?

fRrem WR fopd 71T o & &5 & ERT ST T e ahior (et H) 82

Options:
1) 93.6

2)88.2
3)84.3

4)952
Correct Answer: 93.6
Candidate Answer: 93.6
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QID: 148 -
The given pie chart shows the breakup (in percentage)
of monthly expenditure of a person.

fou 7w @ R A e <o & A¥E @g & foaor
(ufaea &) @r g2far T &

Saving/
g9
20%

Education/

frem Rent / fergrar

16%

The expenditure on food is how much percent more than the expenditure on Savings?

AT TR fohaT a7 =0T s R fhT MU e @ foha ufasra aifdes 82

Options:
1)12.21

2)15
3)13.04

4) 11
Correct Answer: 15
Candidate Answer: 15

QID: 149 -
The given pie chart shows the breakup (in percentage)
of monthly expenditure of a person.

fou 7w @ R A e =T & FA¥F @F & fEIor
(ufaee &) @r gefar T &

s Clothes/
P >
Saving/ :
15%

o
20%

Education/

frear

Rent / forgmaT
16%

If the expenditure incurred on Clothes is Rs 3000, then what is the expenditure (in Rs) incurred on Education?

afg sruet wR 3 mar =ag 3000 @. &, at e wR faan man =07 (<. 7) i gm?

Options:
1) 4300
2) 5050
3) 5200
4) 5600



www.gradeup.co @
g p <% gradeu;

Correct Answer: 5200
Candidate Answer: 5200

QID: 150 -
The given pie chart shows the breakup (in percentage)
of monthly expenditure of a person.

fr 7w o7 " # ¢ =T & A1f0e =g & g
(ufaera &) @ gefrar T §)

Saving/
o
20%

Education/

frerr Rent / f&pmam

16%

The central angle made by the sector of expenditure on Fuel is how much more (in degrees) than the central angle made by the sector of expenditure on Clothes, if
the ratio of the expenditure on Fuel and Clothes is 4 : 3 respectively?

g WR QT 2 & 8 S gRT ST AT hei 1T hivT huS! TR fh 7Y o & & & gRT SHIY 1Y Shesitg hior (feft &) @ feva sifdves &, afe; Sem qem shuel W by 7Q =09 ot srgura
A 4:38?

Options:

1)18

2)32
3)36

4) 45
Correct Answer: 18
Candidate Answer: 18

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Mathematics and Chemistry are (1)/more easier than (2)/ Physics and Biology. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select '‘No Error'.

Jaipur is (1)/ further from Patna (2)/ than Chandigarh. (3)/ No Error (4)
Options:

101

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 153 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Rahul was (1)/ the richest of (2)/ the two persons. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2
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Candidate Answer: 2

QID : 154 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select '‘No Error'.

Ritika gave her friend (1)/ no money nor she did help her (2)/ in any way. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 2

QID : 155 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Low interest rates are tempting (1)/ many customers to take (2)/ on too much debt. (3)/ No Error (4)
Options:
1)1

Correct Answer: 1
Candidate Answer: 3

QID : 156 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

1 bought a new TV last month, but | my old TV yet, so at present | have two TVs.
Options:

1) has not sell

2) have not sold

3) have sold

4) am selling

Correct Answer: have not sold

Candidate Answer: have not sold

QID : 157 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Piyush plays volleyball an experienced person.
Options:

1) as though

2) as if

3) as of

4) as

Correct Answer: as

Candidate Answer: as

QID : 158 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

One should grapple all the dangers.
Options:

1) on

2) with

3) off

4) for

Correct Answer: with

Candidate Answer: for

QID : 159 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Scarcely had Ramesh gone there he met his father.
Options:

1) then

2) than

3) when

4) for

Correct Answer: when

Candidate Answer: when

QID : 160 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Mobile phones ____ popular in India in the last five years.
Options:

1) have become

2) became

3) are becoming

4) are become

Correct Answer: have become



www.gradeup.co ﬁ
g p <% gradeu;

Candidate Answer: have become

QID : 161 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Dishevel
Options:

1) clutter
2) unreal
3) foolish
4) adamant

Correct Answer: clutter
Candidate Answer: [ NOT ANSWERED ]

QID : 162 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Traitor

Options:

1) soother

2) turbid

3) epicure

4) deceiver

Correct Answer: deceiver

Candidate Answer: deceiver

QID : 163 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Obscure
Options:

1) confusing
2) appease
3) servile

4) obvious

Correct Answer: confusing
Candidate Answer: [ NOT ANSWERED ]

QID : 164 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Pathos
Options:
1) hesitant
2) rebuke
3) sorrow
4) clumsy

Correct Answer: sorrow
Candidate Answer: clumsy

QID : 165 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Perdurable
Options:

1) irregular

2) long-lasting
3) fitful

4) abandon

Correct Answer: long-lasting
Candidate Answer: [ NOT ANSWERED ]

QID : 166 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Bountiful

Options:

1) generous

2) meager

3) copious

4) teeming

Correct Answer: meager

Candidate Answer: [ NOT ANSWERED |

QID : 167 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Inertia
Options:
1) feeble
2) repel
3) energy
4) peace

Correct Answer: energy
Candidate Answer: peace

QID : 168 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Nuisance
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Options:

1) disperse
2) confront
3) bold

4) pleasure

Correct Answer: pleasure
Candidate Answer: pleasure

QID : 169 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Renaissance
Options:

1) decadence
2) pestilence

3) prehistory

4) immorality

Correct Answer: decadence
Candidate Answer: [ NOT ANSWERED ]

QID : 170 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Hegemony
Options:

1) renowned

2) unpopular

3) notorious

4) subordination

Correct Answer: subordination
Candidate Answer: [ NOT ANSWERED |

QID : 171 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

In vogue
Options:

1) Danger

2) Boastful
3) Ambitious
4) Popular

Correct Answer: Popular
Candidate Answer: Danger

QID : 172 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

In a fix

Options:

1) Witching

2) Making imaginary schemes
3) In puzzling state

4) Talk irrelevantly

Correct Answer: In puzzling state
Candidate Answer: In puzzling state

QID : 173 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

To hammer out
Options:

1) To raise alarm

2) To plan

3) To take part

4) To be tired of
Correct Answer: To plan

Candidate Answer: [ NOT ANSWERED ]

QID : 174 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

A mare's nest

Options:

1) A rumour

2) A false praise

3) A difficult situation

4) A constant source of annoyance
Correct Answer: A rumour

Candidate Answer: A difficult situation

QID : 175 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Stand for

Options:

1) Represent

2) block

3) Resist

4) Discuss

Correct Answer: Represent
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Candidate Answer: Represent

QID : 176 - Improve the bracketed part of the sentence.

It is the time the four years old (is learning) how to read and write.
Options:

1) learn

2) was learning

3) has learned

4) no improvement

Correct Answer: learn
Candidate Answer: learn

QID : 177 - Improve the bracketed part of the sentence.

He plays football and basketball (also).
Options:

1) too

2) although

3) besides

4) no improvement

Correct Answer: too
Candidate Answer: too

QID : 178 - Improve the bracketed part of the sentence.

Neha was really happy (while) | accepted her invitation for her marriage.
Options:

1) as

2) when

3) then

4) no improvement

Correct Answer: when
Candidate Answer: when

QID : 179 - Improve the bracketed part of the sentence.

Vishal (could be able to) work out these problems easily.
Options:

1) should be able to

2) must be able to

3) can be able to

4) no improvement

Correct Answer: should be able to
Candidate Answer: must be able to

QID : 180 - Improve the bracketed part of the sentence.

It is fifteen years since | (have begun) living here.
Options:

1) began

2) begun

3) had begun

4) no improvement

Correct Answer: began
Candidate Answer: no improvement

QID : 181 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

The murder of one's sister
Options:

1) uxoricide

2) sororicide

3) smother

4) parricide

Correct Answer: sororicide
Candidate Answer: sororicide

QID : 182 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A hater of new things

Options:

1) sanguine

2) intransigent

3) misoneist

4) misocapnic

Correct Answer: misoneist
Candidate Answer: misocapnic

QID : 183 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Fear of snakes
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Options:

1) ophiophobia

2) acrophobia

3) xenophobia

4) claustrophobia

Correct Answer: ophiophobia

Candidate Answer: xenophobia

QID : 184 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

A group of girls

Options:

1) knell

2) archive

3) ennui

4) bevy

Correct Answer: bevy
Candidate Answer: ennui

QID : 185 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Guided by one's sense of duty
Options:

1) conscientious

2) gaggle

3) amnesia

4) circumvent

Correct Answer: conscientious

Candidate Answer: circumvent

QID : 186 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) abbreviate

2) accommodate

3) admittance

4) aggresser

Correct Answer: aggresser

Candidate Answer: [ NOT ANSWERED |

QID : 187 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) velocity

2) viscocity

3) variability

4) vegetarian

Correct Answer: viscocity

Candidate Answer: vegetarian

QID : 188 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) auxilliary

2) assiduous

3) affidavit

4) affiliation

Correct Answer: auxilliary
Candidate Answer: affiliation

QID : 189 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) ignominious

2) illumination

3) inquitous

4) immediately

Correct Answer: inquitous

Candidate Answer: inquitous

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) perpetuity

2) preferential

3) predecesser

4) percussive

Correct Answer: predecesser
Candidate Answer: [ NOT ANSWERED ]

QID : 191 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

A man's first duty is to know his business and act and faithfully in his own sphere. Many a good intentioned person unknowingly wastes much of his time,
energy and sensibility in ideological and passive sympathy for many sorts of human which he can neither remove nor alleviate. This kind of sympathy is
not only useless but and meaningless too. Habitual indulgence in this kind of sympathy is and cowardly.

A man's first duty is to know his business and act and faithfully in his own sphere.
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Options:

1) honestly

2) suspiciously

3) smartly

4) actively

Correct Answer: honestly
Candidate Answer: honestly

QID : 192 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

A man's first duty is to know his business and act and faithfully in his own sphere. Many a good intentioned person unknowingly wastes much of his time,
energy and sensibility in ideological and passive sympathy for many sorts of human which he can neither remove nor alleviate. This kind of sympathy is
not only useless but and meaningless too. Habitual indulgence in this kind of sympathy is and cowardly.

Many a good intentioned person unknowingly wastes much of his time, energy and
Options:

1) practical

2) senseless

3) emotional

4) irresistible

Correct Answer: emotional

Candidate Answer: practical

sensibility

QID : 193 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

A man's first duty is to know his business and act and faithfully in his own sphere. Many a good intentioned person unknowingly wastes much of his time,
energy and _____ sensibility in ideological and passive sympathy for many sorts of human which he can neither remove nor alleviate. This kind of sympathy is
not only useless but and meaningless too. Habitual indulgence in this kind of sympathy is and cowardly.

sympathy for many sorts of human ___ which he can neither
Options:

1) deeds

2) needs

3) wants

4) sufferings

Correct Answer: sufferings

Candidate Answer: needs

QID : 194 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

A man's first duty is to know his business and act and faithfully in his own sphere. Many a good intentioned person unknowingly wastes much of his time,
energy and _____ sensibility in ideological and passive sympathy for many sorts of human which he can neither remove nor alleviate. This kind of sympathy is
not only useless but and meaningless too. Habitual indulgence in this kind of sympathy is and cowardly.

This kind of sympathy is not only useless but
Options:

1) unimaginery

2) unproductive

3) thoughtful

4) thoughtless

Correct Answer: thoughtless

Candidate Answer: thoughtless

and meaningless too.

QID : 195 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

A man's first duty is to know his business and act and faithfully in his own sphere. Many a good intentioned person unknowingly wastes much of his time,
energy and sensibility in ideological and passive sympathy for many sorts of human which he can neither remove nor alleviate. This kind of sympathy is
not only useless but and meaningless too. Habitual indulgence in this kind of sympathy is and cowardly.

Habitual indulgence in this kind of sympathy is
Options:

1) inevident

2) imbecile

3) undesirable

4) extraordinary

Correct Answer: imbecile

Candidate Answer: [ NOT ANSWERED |

and cowardly.

QID : 196 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Soft skills refer to non—technical, personality specific skills that are easy to learn and follow compared to technical skills. Therefore these skills are called Soft skills.
Soft skills encompass anything and everything that relates to the functioning of a group, an individual or an organization in relation to behaviour, performance,
interaction, team spirit and all related aspects which are non-technical in nature.

In today's competitive world, the only sustainable competitive advantage that cannot be duplicated is the "soft skills’, i.e. the quality, drive, enthusiasm and leadership
ability of the people of the organization. To be more precise, soft skill refers to the cluster of personality traits, interpersonal skills, social graces, etiquettes, personal
habits, friendliness, leadership skills and optimism that mark each of us to varying degrees. For aspirants seeking job, a variety of basic traits and skills like
knowledge, character traits, interpersonal abilities, combined with ethics and attitudes form the key to their ability to get a job, to keep it, and to move up in the
organization. For corporates, soft skills are about projecting oneself and one's professional skills in the best possible way, and taking a holistic view of things. They
are about how you interact with and react to others when you come into contact with them; they enable you to zero down to the most important point you want to
make, but in an attractive and charming manner.

Which of the following is not true about soft skills?
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Options:

1) they are easy to learn

2) it involves team spirit

3) it is a non—technical skill

4) it does not relate to an individual

Correct Answer: it does not relate to an individual

Candidate Answer: it does not relate to an individual

QID : 197 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Soft skills refer to non—technical, personality specific skills that are easy to learn and follow compared to technical skills. Therefore these skills are called Soft skills.
Soft skills encompass anything and everything that relates to the functioning of a group, an individual or an organization in relation to behaviour, performance,
interaction, team spirit and all related aspects which are non-technical in nature.

In today's competitive world, the only sustainable competitive advantage that cannot be duplicated is the "soft skills", i.e. the quality, drive, enthusiasm and leadership
ability of the people of the organization. To be more precise, soft skill refers to the cluster of personality traits, interpersonal skills, social graces, etiquettes, personal
habits, friendliness, leadership skills and optimism that mark each of us to varying degrees. For aspirants seeking job, a variety of basic traits and skills like
knowledge, character traits, interpersonal abilities, combined with ethics and attitudes form the key to their ability to get a job, to keep it, and to move up in the
organization. For corporates, soft skills are about projecting oneself and one's professional skills in the best possible way, and taking a holistic view of things. They
are about how you interact with and react to others when you come into contact with them; they enable you to zero down to the most important point you want to
make, but in an attractive and charming manner.

What is not included in the cluster of soft skill?
Options:

1) personality traits

2) social graces

3) pessimism

4) leadership skills

Correct Answer: pessimism

Candidate Answer: pessimism

QID : 198 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Soft skills refer to non—technical, personality specific skills that are easy to learn and follow compared to technical skills. Therefore these skills are called Soft skills.
Soft skills encompass anything and everything that relates to the functioning of a group, an individual or an organization in relation to behaviour, performance,
interaction, team spirit and all related aspects which are non-technical in nature.

In today's competitive world, the only sustainable competitive advantage that cannot be duplicated is the "soft skills", i.e. the quality, drive, enthusiasm and leadership
ability of the people of the organization. To be more precise, soft skill refers to the cluster of personality traits, interpersonal skills, social graces, etiquettes, personal
habits, friendliness, leadership skills and optimism that mark each of us to varying degrees. For aspirants seeking job, a variety of basic traits and skills like
knowledge, character traits, interpersonal abilities, combined with ethics and attitudes form the key to their ability to get a job, to keep it, and to move up in the
organization. For corporates, soft skills are about projecting oneself and one's professional skills in the best possible way, and taking a holistic view of things. They
are about how you interact with and react to others when you come into contact with them; they enable you to zero down to the most important point you want to
make, but in an attractive and charming manner.

What all skills an aspirant seeking a job should possess to build his career?
Options:

1) interpersonal abilities

2) character traits

3) knowledge

4) All of these

Correct Answer: All of these
Candidate Answer: All of these

QID : 199 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Soft skills refer to non—technical, personality specific skills that are easy to learn and follow compared to technical skills. Therefore these skills are called Soft skills.
Soft skills encompass anything and everything that relates to the functioning of a group, an individual or an organization in relation to behaviour, performance,
interaction, team spirit and all related aspects which are non-technical in nature.

In today's competitive world, the only sustainable competitive advantage that cannot be duplicated is the "soft skills", i.e. the quality, drive, enthusiasm and leadership
ability of the people of the organization. To be more precise, soft skill refers to the cluster of personality traits, interpersonal skills, social graces, etiquettes, personal
habits, friendliness, leadership skills and optimism that mark each of us to varying degrees. For aspirants seeking job, a variety of basic traits and skills like
knowledge, character traits, interpersonal abilities, combined with ethics and attitudes form the key to their ability to get a job, to keep it, and to move up in the
organization. For corporates, soft skills are about projecting oneself and one's professional skills in the best possible way, and taking a holistic view of things. They
are about how you interact with and react to others when you come into contact with them; they enable you to zero down to the most important point you want to
make, but in an attractive and charming manner.

Select the suitable title for the passage.

Options:

1) Soft skills: a non-technical skill

2) Soft skills: your competitive advantage

3) Soft skills: a complete skill

4) Soft skills: the best leadership skill

Correct Answer: Soft skills: your competitive advantage

Candidate Answer: Soft skills: a complete skill
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QID : 200 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the given four
alternatives.

Soft skills refer to non—technical, personality specific skills that are easy to learn and follow compared to technical skills. Therefore these skills are called Soft skills.
Soft skills encompass anything and everything that relates to the functioning of a group, an individual or an organization in relation to behaviour, performance,
interaction, team spirit and all related aspects which are non-technical in nature.

In today's competitive world, the only sustainable competitive advantage that cannot be duplicated is the "soft skills", i.e. the quality, drive, enthusiasm and leadership
ability of the people of the organization. To be more precise, soft skill refers to the cluster of personality traits, interpersonal skills, social graces, etiquettes, personal
habits, friendliness, leadership skills and optimism that mark each of us to varying degrees. For aspirants seeking job, a variety of basic traits and skills like
knowledge, character traits, interpersonal abilities, combined with ethics and attitudes form the key to their ability to get a job, to keep it, and to move up in the
organization. For corporates, soft skills are about projecting oneself and one's professional skills in the best possible way, and taking a holistic view of things. They
are about how you interact with and react to others when you come into contact with them; they enable you to zero down to the most important point you want to
make, but in an attractive and charming manner.

According to the passage, which of the following statement is INCORRECT?

Options:

1) corporates want a holistic view of things

2) soft skills cannot be duplicated with any other skill

3) soft skills are just confined to an individual

4) an aspirant seeking job needs to have combination of ethics and attitudes to climb up the ladder of success in corporate world
Correct Answer: soft skills are just confined to an individual

Candidate Answer: soft skills cannot be duplicated with any other skill



